Addal247

Print ResponseSheet

Central Teacher Eligibility Test (CTET)
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name CTET SS L1 Hindi L2 Sanskrit P2

Exam Date & Time 18-01-2023 02:30:00

Subject : CDP_P2_CTET

Question ID:- 1

Assertion (A) : Learning and development are related to each other.
Reason (R) : Learning creates new conditions for development.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 1,
« 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID:- 2
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Which of the following statements about child development is correct ?

(1) Development is a spontaneous process but appropriate environment is necessary to
facilitate it.

(2) Development is pre-determined by genetic factors and cannot be modified.
(3) Heredity does not play any role in development.
(4) The process of development begins only after the stage of infancy.
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Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3

is the process by which children learn the norms of the society.

(1) Assimilation
(2) Meta cognition
(3) Socialization
(4) Segregation
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(3) TSR

(4) JHFRIT
Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,
« 4, Option ID :- 12,




Answer Given:- 3, Option ID : -11

Question ID:- 4

Assertion (A) : Sarla, a six year old cannot do tasks of conservation and seriation.

Reason (R) : Children in pre-concrete stage have difficulties in considering multiple
aspects of a situation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

afierer (A) : o7 IuTa OYe T IR iR o FE TE R el §

T (R) : 4 Hfspareass sraeen § o= 1 feefd & %2 veqell W faur w5 § #fe e
7

Tl foaspey g1

(1) (A) 3R (R) &1 &t § iR (R) T& =& 4l § (A) i

(2) (A) 3R (R) < T& € @fRe (R) TET =@ = § (A)

(3) (A) T& T @ (R) Terd €1

(4) (A) 3R (R) S TTewd B

2

—
-

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

According to Piaget which of these factors plays an important role in cognitive
development ?

(1) Activity

(2) Conditioning
(3) Imitation

(4) Reinforcement
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Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

Umed does not eat the chocolates his father has got for guests thinking of what would

happen if he would get caught. According to Kohlberg’s theory Umed is at which stage
of moral development ?

(1) Instrumental purpose orientation

(2) Punishment and obedience orientation
(3) Universal ethical principles

(4) Good boy-good girl orientation
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Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7




Who proposed that learning occurs when child engaged in a shared activity with a more
knowledgeable peer or an adult ?

(1) B.E. Skinner

(2) Jean Piaget

(3) Lev Vygotsky

(4) Lawhrence Kohlberg
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Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

When a teacher leads the child to the correct answer through various prompts rather
than mere explanation, the help provided is referred to as :

(1) scaffolding
(2)
(3) conditioning
(4)

direct instruction

reinforcement
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Options:-
.1, Option ID :- 29,
« 2, Option ID :- 30,




. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9

In a progressive classroom learning :

(1) Is constructed by the students themselves who play an active role

(2) Is dictated by the teacher and students are passive recipients of the same

(3) Happens by pairing of a stimulus and response

(4) Takes place when the students are offered positive reinforcement
iRt et | Afare

(1) = Fmio wfrg w9 9 361 g/ w4 foma s 2
2) Torerer gru T foman Sirn © @i = St o iR araehdl 29 ¥
3

) IZaIA iR UfafRaT & I 9 aYT § w8 |
4) 9 EA g ST BTE Rl W YA f6H1 S # )

(
(
(

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10

Howard Gardner challenged the notion that :
(1) intelligence is pre-determined and fixed
(2) intelligence is a broad concept that is not unitary
(3) there are multiple forms of intelligence
(4)

4) individuals possess different types of intelligence in varying degrees
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Options:-
.1, Option ID :- 37,

« 2, Option ID :- 38,




. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Question ID:- 11

Individuals with demonstrate excellent reasoning skills, abstract thought,
and the ability to infer based on patterns.

(I) Logico-mathematical intelligence
(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence

(4) Linguistic intelligence
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Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

Question ID:- 12

In Lev Vygotsky’s theory self talk that guides thinking and action is referred to as
and should be

(1) private speech; encouraged
(2) egocentric speech; encouraged
(3) private speech; discouraged
(4) egocentric speech; discouraged
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Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13

Assertion (A) : In middle school, teachers should encourage boys to study mathematics
and sciences rather than languages.

Reason (R) : Boys do not have the inherent abilities to study languages.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

« 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14




Assessment should NOT be undertaken :

(1) To find out the readiness levels of children

(2) To reflect upon and modify teaching - learning

(3) To induce fear and stress of learning among children
(4) To support and improve children’s learning
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Options:-

.1, Option ID :- 53,

« 2, Option ID :- 54,

« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

During a class test a teacher finds that most of the students have responded incorrectly to
a concept based question. The teacher should :

(1) Scold the children and ask them to work hard

(2) Call the parents and complain that the children are not studying

(3) Make the students write the answers to the question multiple times

(4) Find out conceptual challenges in the students’ thinking and teach accordingly
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Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60




Question ID:- 16

Which of the following statements is true about inclusive education ?

(i) It is a system of education, wherein students with and without ‘disability’ learn
together.

(i) It is about ensuring participation of all children while removing exclusion,
discrimination, barriers to learning and participation.

(i) It views differences between children and adults as hindrances for learning.

(1) (), (i)
(2) (), (i)
(3) (i), (iii)
(4) (), (i), (ii)
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(1) (@), (i)
(2) (@), (i)
(3) (i), (iii)
(4) (), (i), (iii)
Options:-

.1, Option ID :- 61,

« 2, Option ID :- 62,

« 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

In a classroom of diverse children, with children from disadvantaged communities, a
teacher should :

(1) totally ignore individual differences.

(2) work towards eliminating all cultural differences.
(3) recognize that differences are not ‘deficits’.
(4)

4 identify children who can learn and focus on them only.
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Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Which of the following would promote learning in an inclusive classroom ?
(1) Competitive ethos

(2) Collaborative learning

(3) Standardized instruction

(4) Rigid assessment strategies
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Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19




Which of the following are effective accommodations in the classroom environment as
per the needs of students with locomotor disabilities ?

()  Provision of barrier - free environment

(i) Ensure free movement by placing furniture in less restrictive manner
(i) Follow multiple methods of assessment

(1) @), (@)

(2) (), (i)

(3) (i), (i)

(4) (), (), (i)
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(3) (i), (iii)

(4) (), (i), (i)
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

Which of the following are typical indicators of creativity ?

(i)  Need for repeated practice
(i) Inability to concentrate
(iii) Risk taking

(iv) Flexibility

(v) Intolerance for boredom
(1) (), i), (i)

(2) (i), (iv), (v)

(3) (), (i), (i), (iv)

(4) (@), @), (i), (), (v)
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(1) (), (), (i)

(2) (i), (iv), (v)

(3) (@), (i), (iii), (iv)

(4) (@), (), (i), (iv), (v)
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78

Question ID:- 21

In a socio-constructivist classroom the teacher is and the tables and desks
are to facilitate group work.
(1) Mobile; moveable
(2) Mobile; fixed
(3) Dictator; fixed
(4) Dictator; moveable
e GrHIfSToh-TaTcHe el o ferereh =l SIR wHfes HE 1 grH 99H & o, 79 9
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Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22




is problematic.

internally.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 85,

« 2, Option ID :- 86,

. 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Assertion (A) : Restricting learning to a permanent and measurable change in behavior

Reason (R) : Learning is a complex activity that includes processes that take place

Question ID:- 23

Experimental learning stresses :

(1) The role of reinforcement in learning

(2) Importance of hands-on learning

(3) That learning is a product rather than a process
(4) Drill and mechanical practice
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.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

When students are not able to ‘perform’ as per the expectations of the school, the schools
should first focus on reflecting upon :

(1) The “deficiencies” in these children

(2) The economic background of the parents

(3) The social background of the parents

(4) The school and the classroom environment and ethos
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Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

Which of the following describes use of heuristics in problem-solving ?
(1) A step-by step procedure for achieving as goals is prescribed.

(2) The problemis divided into a number of intermediate goals and then focus on solving
each sub-goal.

(3) The students begin at the goal and move back to the unsolved initial problem.

(4) The student limits her search for solutions to situations that have something in
common with the one you currently face.
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Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Which of the following strategies is NOT helpful for a teacher to encourage emotional
self regulation in her students ?

(1) Helping students recognize and express their feelings

(2) Discussing strategies for coping with emotions

(3) Helping students recognize cultural differences in emotional expression
(

4)  Encouraging students to compete with each other and constantly make comparisons
creating a climate of mistrust
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Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27




An effective way to encourage children for learning goals is :
(1) to pressurise them to score well in exams

(2) to constantly compare their performance with peers
(3) to offer rewards or punishment for every behaviour

(4) inculcate love, joy and curiosity for learning
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Options:-
.1, Option ID :- 105,

. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

Which of the following statements does not support a belief in socio-constructivist
perspective of learning ?

(1) Children should receive qualitative feedback on their responses.

(2) Teachers should make children aware of the inconsistencies in their thinking though
questioning.

(3) Teachers should ask questions to bring out children’s misconceptions and prompt
them to think on their own thinking.

(4) Children should take on a passive role during the teaching process.
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Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
« 3, Option ID :- 111,




. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

Which of the following strategies would hinder students from becoming effective problem-
solvers and critical thinkers ?

(1)  Asking students if they are sure they understand the problem accurately
(2) Encouraging the students to think of analogies

(3) Asking the students to think rather than doing the thinking for them

(

4)  Encouraging the students to see only one way of seeing the problem and focus on a
prescribed given solution
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Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

As an middle school teacher how will you increase intrinsic motivation in your students ?
(1) Encouraging competition

(2) Punishing undesirable behavior

(3) Inculcating joy for learning
(4)

4 Offering materialistic rewards
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Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : SS_P2_CTET

Question ID:- 91

Which among the following would be an example of diversity with equality ?

(1)
(2)
(3)
(4)

Samir likes to paint and Mihir likes to sketch.

Samir goes to school and Mihir sells newspaper.

Samir got new clothes for Diwali and Mihir wore his old clothes.
Samir lives in a flat and Mihir lives in a hut.
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(1)
(2)
(3)
(4)
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Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

People in Kerala practise different religions. What could be the reason for diversity of
religious practice ? Consider the two statements given below and choose the correct
answer,

(A)

(B)

Jewish and Arab traders came to trade in spices and brought Judaism and Islam to
the people there.

St. Thomas came nearly 2000 years ago and brought Christianity to the people.

Options :

(1) Only (A) is true and can be considered as a reason.
(2) Only (B) is true and can be considered as a reason.
(3) (A) and (B) are true and are valid reasons.

(

(A) and (B) are true but not valid reasons.
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FreAfafad € seRi W fa=m Fifse qer 98t fasey =1 =997 $ifsu .

A)  TEE 3N 3 AR TG 1 AR U AT 9 3R @l @i % fae wgd uH it s
I |

(B) Hd =fFE TRIST S ESTR H1e T8el @1 370 SR @i o fore 391 o @ |

(1) %o (A) & & 1R 38 FRO % &9 & 9 S Ghell §
(2) 9d (B) UEl & 3R 39 HRU % ¥ H HET S kel € |
(3) (A) 3R (B) Wt § SR A AT HROZ |

(4) (A) 3R (B) W&t § Tg A 49 HR0 A §

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 93

Match the following in the context of functioning of government and choose the
appropriate option :

Column X Column Y
(A) Local Government (I)  Decision to mark out grazing land area
(B) State Government (I)  Decision to give bonus to village
administrative officer in Madhya Pradesh
(C) Union Government (III) Introducing new currency note
Options :
(D) (A)-(D, (B)-(I), (O)-(11I)
(2 (A)-I), (B)-(I), (C)-(1I)
(3)  (A)-I), (B)-(I), (O(1I)
(4 (A)-1), (B)-(D), ©)-(1)




HEHR ] HEfary o de H fefafad &1 gHa Fifs iR 3 faswey &1 =997 whifa

HhieTH X i Y
(A) ®FEETREE () WWE & ae deE o
(B) TST WIHN (1) HeAyey | U U gt ARt @ S 27 9 fo
(C) ¥ W& (II1) 1 He1 ST e = i
fawea
(1) (A)-(D), (B)-(1I), (C)-(I1I)
(2)  (A)-(I), (B)-(T), (C)-(I1I)
(3)  (A)-(IL), (B)-(I), (C)-(II)
(4)  (A)-(IT), (B)-(I1I), (C)-(T)

Options:-

.1, Option ID :- 369,

« 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given

370,
371,

372,
:- 4, Option ID : -372

Question ID:- 94

Who among the following in a state is appointed by the Central Government ?

(1) Speaker of the Vidhan Sabha
(2) Member of Legislative Council
(3) Governor

(4)  Chief Minister

Frefafes 5 4 w2 § fraet Fafa %= TR g E €2
(1) foum 9w st (TdeR)

(2) faum ww ufieg & we=
(3) T
(4) e

Options:-

.1, Option ID :- 373,

« 2, Option ID :-
« 3, Option ID :-
« 4, Option ID :-

Answer Given

374,
375,

376,
:- 1, Option ID : -373

Question ID:-

95




Which of the following is be an example of employment with job security ?
(1) Daily wage labourer

(2) Casual worker

(3) Regular worker

(4) Seasonal worker

Freafafad & | @ Aol Sl gIaT arel UsTIR o1 Teh SeTedvl 8T ?

(1) feert weig

(2) sfEfaa wHEr

(3) frafua wH=Er

(4) g e
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96

Consider the following statements about casual jobs :

(A) Employees are required to come as and when the employer needs them.
(B) Employees get good working conditions.

(C) Employees are expected to work for longer hours.

Choose the correct option :

(1) Only (A) is true

(2) y (A) and (B) are true

(3) C)nly (B) and (C) are true

(4) Only (A) and (C) are true




sifFafae IR & gl # e el ey
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(C) SRR ¥ SAE1 5ie M I ol 3G i STl & |
&l fasheq &1 e hifsg

(1) ad (A) T&l &

(2) Fad (A) 3R ()H‘aﬁ%*l

(3) % (B) 3R (C) Wel T

(4) FFA (A) 3R (C) T T

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

An important mechanism during the parliament session by which the MPs elicit
information about the working of the Government and keep a check over the
executive is known as

(A) Zero hour

(B) Question hour

(C) Calling attention motion
(D) Walk out from the house

Options :

() (A), (B) and (D)
(2) (B), (C) and (D)
(3) (A), (B) and (C)
(49) (O, (D) and (A)
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(A) A 6

Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98

Which of the following will be called a balanced media report ?

(1)  One that discusses the government's position only.

(2) One that is pro-people and anti-private companies.

(3) One that discusses the point of view of the disadvantaged sections of society.
(4)  One that discusses all points of view.

frefafes 5 9 fd s Hyfed Hifea fRare 272

(1) =% o et R &F ek St ==t =1 7 %)

(2) a8 S @l % 9 sl Fstt sl & faers s g
(3) @@ S §HS % difed SHEl % gfteehion i == i ¢ |
(4) = ford wsft vali 1 o1d W T T

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
« 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392




Question ID:- 99

Which of the following provisions in the Censtitution are recognition of equality :
(A) Every person is equal before law.

(B) Untouchability has been abolished.

(C) Every person has access to all public places.

(

D) No person can be discriminated against on the basis of their religion, race, caste,
sex or place of birth.

Choose the correct option :

(1) (A), (B) and (C)
2)  (A), (C) and (D)

(
(3)  (B), (C) and (D)
(4) AlLL(A), (B), (C) and (D)

1 § | 9 9 FAEG B wfud s o fore gigum & yaee

(A) HHA I g d e =fa gaE g

(B)  STOgvEdl o1 Sgol oY faan o ¥

(C) & = rasife TE TS TRl g

(D) foret it =afe & Ty 38% uH, sifq, 89, o oiv S & syR R 9gamE =@ fohan s

qhdl &1
'{Ta:\' Ta&eq =1 939 ﬁﬁﬂl :
(1) (A), (B) @ (C)
(2) (A), (C) ¥R (D)
(3)  (B), (O) ¥R (D)
(4)  (A), (B), (C) R (D) @it
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100




Every citizen has freedom to practice and follow one’s own religion. This freedom emanates
from which principle enshrined in the Indian Constitution ?

(1) Socialism
(2) Secularism
(3)

(

4)  Republican form of Government

Democracy

Yk ARG ol TEaadl & 3104 9 o1 Ore SIR STE0 T i | R Sfaem | gfaeentia
fore fogia @ 7' Lol 3001 & & 2

(1) HAER

(2) e

(3) @rehas

(4) HEHR I IUIEHE TEY
Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101

Which among the following would amount to an unfair trial in a case of theft ?
(1)  The person accused of theft is given a copy of the charge sheet.

(2) The person accused of theft is provided with a lawyer by the state because he cannot
afford one.

(3) The lawyer of the accused is allowed to question the witnesses.

(4) Theaccused once found guilty is forgiven as he is a talented person from a respectable
family.

TRl S o "ol | Frerfafad 5 9 = 89 92 9aarayol Gerg /i S ?

(1) =i =1 SARY TR T AR 1 STRY 931 i 97 &1 |

(2) Eehlel A i GHA T W@ T TT R STRIMYA ol Sehicl 3qeied I |

(3) ATYd % =kl =l TaRl H YS-A10 H &A1

(4) ewfaa = et U S W gfaumeedt SR St afER % 2 i a9 | W e

Options:-
.1, Option ID :- 401,




. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Where in Odisha did tribal people protest against displacement, upon the setting up of
an aluminium mine ?

(1) Dhaulagiri hills

(2) Niyamgiri hills

(3) Chirmari hills

(4) Giridih hills

32 & fohg &3 § wegHifm oAt g @F aH e sifeafeEl gr fameras o fadiy srery
AT AT ?

(1) e gea

(2) AT gETE

(3) TeRMEd were

(4) fifee vea
Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103

Consider the following statements and choose the correct option, on the mid-day meal
programme.

Statement (A) : The programme ensures parents from lower socio-economic strata
do not have to worry about giving three daily meals to their
children.

Statement (B) : The programme compensates for nutritional deprivations of
children.

Options :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
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HIUA (B) :  UT FRHH Uk ANE Hi #fyfd FwRa g1
e -
(1) act (A) TEl 7

(2) el (B) 9 ©
(3) (A) 3R (B) T W& £
(4) (A) 2 (B) SFT e £

Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

In which text of Buddhism were the rules for the monks and nuns of the Sangha
compiled ?
(1) Vinaya Pitaka

(2) Sutta Pitaka
(3) Abhidhamma Pitaka
(4) Jataka

ag o o forg Uy § w9 % ey v faegoft & fag smme o frerdi =5 due e T &2

(1) farafres

(2) gafgew

(3) sAfyymfres

(4) Sides
Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
« 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416




Question ID:- 105

People who study historical objects are called,
(1) Curators

(2) Archaeologists
(3)  Archivists
(4) Calligraphers

g Al 1 FEed € Sl Ufderen axgsil 1 75997 id € 2
(1) Huedre

2) gUEEEg

3) e

4) oRferaTRd (o)

Options:-
.1, Option ID :- 417,

(
(
(

« 2, Option ID :- 418,
« 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

Read the following Assertion (A) and Reasoning (R) and choose the correct option.

Assertion (A) Chola king Rajendra I built a Shiva temple in his capital and filled
it with prized statues seized from defeated rulers. Sultan Mahmud
of Ghazni, a contemporary of Rajendra I, also attacked the temples
of defeated kings and looted their wealth and idols during his
campaigns in the subcontinent.

Reason (R) : In the political culture of the middle ages most rulers displayed
their political might and military success by attacking and looting
the places of worship of defeated rulers.

Options :

(1) (A) is true but (R) is false.

(2) (R) is true but (A) is false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
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fererey -

(1) (A) &l 8 9% (R) TTord |

(2) (R) W&l & 7% (A) TTerd |

(3) (A) T (R) THI Tl € TN (R) TE =18 © (A) FH |

(4) (A) @ (R) SFT H&l § U (R) Tl =AWA TR © (A) F |

Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

Put in sequence the process of temple town formation.

(A) Pilgrims visited the temples and made donations.

(B) Large number of priests, workers, traders settled near temples.
(C) Rulers endowed temples with grants of land and money.

(D) Temple authorities used wealth to finance trade and banking.

Options :

(1) (O (A), (B) and (D)
(2)  (A), (B), (C) and (D)
(3) Q) (A) (D) and (B)
(4 (4), (©) (D) and (B)
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Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

Which of the following statements are true about the making of regional cultures in the
eighteenth century ?

(A) Itis a product of intermixing of local traditions with ideas from outside.
(B) It is a highly localised practice specific to a region.
(C) It was always confined by political boundaries.

Options :

(1) (A) and (B) are correct.

(2) (A) and (C ) are correct.

(3) (B) and (C) are correct.

(4) (A), (B) and (C) are correct.
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faeey :

Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Kabir challenged the formal religions of his time by
(1) ridiculing the priestly classes.

(2) adopting the language of nobility.

(3) denouncing the formless God.

(4) preaching salvation through rituals.

A 7 Ik T % A ol R A o
(1) 9IRI a1 1 39 3eH & 51|

(2)  STSTT Sl T ST FR

(3) TR wwver =i fHe1 gRl |

(4) efafy % wem | g 1 39EY 3F 5R
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110




The English cultivated indigo in
(A) Jamaica

(B) India

(C) Caribbean Islands

(D) Venezuela

Options :

(1) (A) and (B)

(2) (O and (B)

(3) (D) and (B)

(4)  Only (B)

U A et 1 el Al

(1) (A) 3R (B)
(2) (C) ¥R (B)
(3) (D) ¥R (B)
(4) e (B)
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111




The Birsa Movement had important consequences, such as :

(A) Colonial government had to introduce new forest laws to safeguard the tribal land
from dikus.

(B) Tribal chiefs got new land titles under the British land settlements.

(C) Tribal people showed the capacity to protest against colonial rule.

Choose the correct option :

(1) (A)and (B)

(2) (A) and (C)

(3) (B) and (C)

(4) (A), (B) and (C)

Tered SAiSTer o HEwegu i o 5y e

(A)  SArafFafirr T i Sipsll ¥ snfcardt S @i YRan & fou 7u o7 FrF aF 93|
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et fasheq T4 |

(2 (A) 3R (©Q)
(3) (B) 3R (O)
(4)  (A), (B) IR (O)
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

Read the statements ‘A’ and ‘B’ on Mahatma Gandhi’s views on medium of education :
(A) Gandhi strongly felt that Indian languages ought to be the medium of teaching.
(B) Education in English made Indians, strangers in their own lands.

Choose the correct answer of the following :

(1) Both (A) and (B) are true but (B) does not explain (A)

(2) Both (A) and (B) are true and (B) explains (A)

(3)  (A) is true but (B) is false

(4) (A)is false but (B) is true
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Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

Henry Derozio was the leader of which of the following reform movement ?
(1)  Self Respect Movement
2)  Aligarh Movement
3)  Young Bengal Movement
)

(
(
(4) Singh Sabha Movement

T Sfsrn frefafed 9§ 9 #5 8 9ur ke & @ 92
(1) @fmE sieer

(2) oTNTE stigeH

(3) I S AR

(4) THe | F|EH
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114




Read the following statements and choose the appropriate option :

(A) In 1919 Gandhiji gave a call for Satyagraha against the Rowlatt Act that the British
had just passed.

(B) Mohammad Al Jinnah however supported the Rowlatt Act.
Options :

1) (A) is true but (B) is false
2) (B) is true but (A) is false
3)  Both (A) and (B)

4) Both (A) and (B)

are true

are false

Trefafad sl =1 9 991 399 faswey = |
(A) 1919 ¥ st = 7Sl gR1 & @ § i foh U e A & faes 9mE s SARaH

feran
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(1) (A) ¥&l g fohg (B) Tord 2 |
(2) (B) Wel ® foheg (A) TTeTd B
(3) (A) T (B) SHI W&l €
(4) (A) @1 (B) ST TTerd €

Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

Which one of the following statements is NOT true regarding the radical leaders of Indian
National Congress ?

(1) They criticised the moderates for their “Politics of Prayer’.

( They emphasised the importance of self-reliance and constructive work.
(3) They felt that the British had respect for the ideals of freedom and justice.
(4) They believed that people must fight for their swaraj.
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Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116

‘Unlike neighbouring countries like Pakistan and Sri Lanka, India handled the linguistic
problems very carefully after Independence.’

Which of the following statement/statements justify /justifies this :

(A) The Indian government respected all the regional languages.

(B) Regional languages were given freedom to flourish.

(C) Hindi was not imposed on any other regional languages.

(D) The government avoided language related problems.

Options :

(1) (A) and (B) only

(2) (B) and (C) only
(3)  (A), (B) and (C) only
(4)  (A), (B) and (D) only
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Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

B.R. Ambedkar led the 1927 temple entry movement because

(A) people who were called “untouchables’ by the casteist society were not allowed
inside the temple.

(B) He had already become Buddhist and wanted Buddhism to be considered as a sect
of Hinduism.

(C) He wanted Hindu society reorganised on principles of equality.
Options :

1)  Only (A) and (B)
) Only (B) and (C)
3)  Only (A) and (C)
)
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Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Read the following statements about Moon.
(A) Only one side of the moon is visible to us on the earth.

(B) The time taken for moon to complete a spin on its axis and the time taken to orbit
the earth is exactly same.

Choose the correct option.

(1) Both (A) and (B) are true, and (B) is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B) is not the correct explanation of (A).
(3) (A) is true but (B) is false.

(4) (A) is false but (B) is true.

‘Sigmr’ & aR H freT wer s ufeu

(A) e Qg HgHT T Fad U & 9 fEEE v ¥

(B) I ohl 799 3181 WU YFA U1 AT % FRI SR e @ § TR1 Ush STH1 §HY oI B |
Tl fasey =1 =9 HIf

(1) @i (A) 3R (B) W&l €, 3R (B) WE ==& &3l § (A) i |

(2) T (A) ¥R (B) TEt §, TR (B) TE =mEn & T © (A) F
(3) (A) W& ¥ g (B) Tewd T
(4) (A) e § foReg (B) TR B

Options:-




.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

Labrador Current is a
(1) Cold current
Warm current

(2)
(3) Canary current
(4) Surface current

TAER YW TH Bl
(1)  9iid SeTar
(2)  TH AR
(3) AN 4
(4) EdE =W
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120

Which of the following are factors of soil formation ?
(A) Altitude and slope

(B) Flora and Fauna

(C) Temperature and Rainfall

(D) Time

Choose the correct option :

(1) (A), (B) and (C)

2) (B), (C) and (D)

3)  (A), (O) and (D)

(
(
(4) Al (A), (B), (C) and (D)




= °§ @ M 9 FRe ge1 F Fmin § erge € €2
(A) T TE BT

(B) aeufdsid us qifursid

(C) a9 & aui

(D) &H4

W@l fasrea = gAE Hifae -

(1)  (A), (B) 7= (C)

(2)  (B), (C) =1 (D)

(3) (A), (O 7= (D)

(4) F(A), (B), (C) T (D)
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 4, Option ID : -480

Question ID:- 121

Consider the following statements about waterways and choose the appropriate option.
(A) Waterways are the most commonly used means of transport for short distances.
(B) Navigable rivers and lakes are used as inland water ways.

(C) Durban and Cape Town are important ports in Africa.

Options :

(1) (A) and (B) are true

(2) (B) and (C) are true

(3) (A) and (C) are true

(4) All (A), (B) and (C) are true




Sl o & H feu e e el @ ufen a1 SugE faeshey o1 gAE hifs |
( FH W A o T e 39 e S At 9rf stemn €

(B) e fedi aun sl w1 IUER STacyiy SerEnt % fore g €

(C) T AR FULRA AKIH F Hedqo I ¢ |

faeheT .

(1) (A)ar(B) W&l €1

(2) (B) @ (C) T £

(3 (A7) W'T%I

(4) | (A), (B) 791 (C) T F |
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122

Consider the following mineral deposits :

(A) Limestone deposits of caucasus region of France
(B) Manganese deposition of Georgia and Ukraine
(C) Phosphate beds of Algeria

Which kind of rocks holds these deposits ?

(1) Igneous rocks

( Sedimentary rocks

(3) Igneous and sedimentary rocks

(4) Metamorphic and sedimentary rocks




Frefafea afsi & Fag 9 fo=m i .

(A) TRIE % HIhH Yol & AT e &9 |
(B) Suforn iR ke & Horersr fai |

(C) TSI o FERe HEA |

7% foF e WeRR % el 99§ 2
(1) T I

(2)  eTerEmEr S

(3) AT SR AFEE I
(

1) FEiaia IR sEEE $ia

Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

Consider the statements (A) and (B) about conventional energy and choose the correct
answer.

Statement (A) Conventional source of energy are those whose occurence is in
limited local area and which have been in common use for a long
time.

Statement (B) : Only fossil fuels are sources of conventional energy.

Options :

(1) Both (A) and (B) are true
2) Both (A) and (B) are false
3) (A)is true but (B) is false

(
(
(4) (A) is false, (B) is true




T S % S H e (A) 991 (B) W faERr $Y siv uEl 39 s e
Tl o Y9I Ei A § S difed e & W ue o € ol S de uea |

HIT (A)

HIUT (B)
TaereT :

HEE I T AU S @ R
THae SATeH e T S o Sd B

(1) (A) X (B) S Wel €|

(2)
(3)
(4)

Options:-

(A) X (B) S TTe7d |
(A) TE & Tfer (B) T ©
(A) TTeTd & @ifeR (B) W& )

.1, Option ID :- 489,

« 2, Option ID

. 3, Option ID :-
. 4, Option ID :-

Answer Given:-

- 490,

491,

492,
3, Option ID : -491

Question ID:- 124

Which of the following pair/pairs, is/are correctly matched.

(A) Maize : High temperature and light rainfall
(B) Cotton : Moderate temperature and rainfall
(C) Jute : High temperature and heavy rainfall
Choose the correct option.

(1) Only (A)

(2) Only (Q)

(3) Only (A)and (B)

(4)  Only (A) and (C)

IR B i A, Sievses 98 w9 e 8 €

(A) HFER - T A9HF AR Toehl aul
(B) &I -  HYIH AYHM SR Ui

(C) & - T aued AR 9 9w
&t faeq 1

(1) e (A)

(2) FF (C)

(3) e (A) 3R (B)

(4) e (A) R ()




Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

If you stay in the Southern Hemisphere, which of the following will hold true about 21+
June ?

(1) Longest day and shortest night

(2) Equal day and night

(3) Shortest day and longest night

(4) Continuous daylight is experienced

3R 2y <feont e § ® d 21 5@ % 9n ° Fefatad § 9 5 a1 9@ gm 2
(1) Ho9 a1 feT ot gad et @

(2) e feT SR ud

(3) o B fed AR Hd sl 1a

(4) T 9o 1 ST B
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

When the Prime Meridian of Greenwich has the sun at the highest point in the sky, all the
places along this meridian will have

(1) Sunrise
(2) Sunset
(3) Mid-day
(4) Midnight




e W oo 9@ Arder g g 999 o1l & ged S fog T8, 39 9T A
feem @eft T W Rl

(1) Ak

(2) T
(3) <Ied
(4) sH-afx
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

What lies at 66%2° North of the equator ?
(1) Tropic of Cancer

(2) Tropic of Capricorn

(3) Arctic Circle

(4) Antarctic circle

foad 39 % 66'4° 3T H #1 TSl & ?
(1) eh Gl

(2) wERL @

(3) S YA gd

(4) =fEm Y Ia
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

Question ID:- 128




The Middle Himalayas are known as :
(1) Himachal

(2) Shiwalik
(3) Aravali
(4) Himadri
qe fEmrerd &l Fg Ja s :
(1) Temm=e
(2) TorEenfasm
(3) sIEEl
(4) femifg
Options:-

.1, Option ID :- 509,
. 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

Which of the following are forms of precipitation ?
(A) Flood

(B) Snow

(C©) Halil

(D) Sleet
Options :

(1) (A), (B), (C)
2) (A), (B), (D)




Trefafes § 9 &9 9 9907 F YHR 82

(A) €€

(B) Teu

(C) efiem

(D) wfen gfee
faerey .

(1) (A), (B), (O
(2)  (A), (B), (D)
(3) (A), (©), (D)
(4) (B), (C), (D)
Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Which gas is known as the gTeenhouse gas ?

(I) Oxygen
(2) Nitrogen
(3) Carbon Dioxide
(4) Argon
Toret 9 =1 TTares 9 hed €2
(1) AT
(2) TS
(3) oIS STREES
(4) A
Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131




History at the elementary level constitutes the following :
(A) Grand narratives
(B) Chronology

(C) Subaltern histories
(D) Critical thinking

Options :
(1)  (A), (B) and (C)

) (A), (B), (C) and (D)
(3) (A) and (B)
(4)  (B), (©) and D)
yRfie R sfaem frefafes & nfed § -
(A) ¥ FUF
(B) HTeTHH
(C) wereer zfaem
(D) eTErEAES fHaa
Taerea :
(1) (A), (B) 3R (C)
(2 (A), (B), (C) ¥ (D)
(3) (A) ¥R (B)
(4) (B), (C) ¥R (D)
Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132




Studying Social Sciences at the elementary level is vital for the following reasons :
(A) To understand the society one lives in.

(B) To appreciate values enshrined in the Indian Constitution.

(C) To become a responsible citizen of a democracy.

(D) To learn to respect differences of opinion.

Options :

(1) (A), (B) and (D)

(2)  (A), (B) and (C)

(3)  (A) and (B)

(4 (A), (B), (C) and (D)

R TR W grifers foem o ssaae Frefafed SRl 9 e €
(A) o 98§ = & 30 g9 & o)

(B) ity Hfaem o wioseifua geeii &t woian & forg)

(C) ks | fSeier e 8 o fer |

(D) HAYE] = FHA L &6 faw)

faweg :

(1) (A), (B) ¥R (D)
(2 (A), (B) ¥R (C)
(3) (A) 3T (B)

(4)  (A), (B), (C) 3T (D)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133




Consider the following statements and choose the correct option.

Statement (I) : The manner in which teachers teach values in classroom has a profound
impact upon students” learning.

Statement (II) : The impact of citizenship education is substantially less in schools where
democratic practices are few or absent all together.

Options :

(1) Statement (I) is false but (II) is true

(2) Both statement (I) and (II) are true and statement (II) is an example of statement

(D).
(3) Statement (I) is true but (II) is false.
(4) Both statement (I) and (II) are true but statement (II) is not an example of statement

(D).

Frafafad seual R foar = 217 T&t fased =1 =999 +1

wmU (1) : o o 4 forars 1ot e H gl 1 AT A § SR S fomnf %
“saferTy ' o1 TR 9 gSd €

AT (I1) : ATIeRar foren =1 g9a ardfas w9 9 37 aifefaal § &0 2§ Sel i qem
g FH T A HUUET H TERE ¢ |

farerey :
(1) A (I) Ted & 93 (1) Tl ¢ |

(2) A (1) 3T (11) 1 WE € a1 e (1), o (1) = S0 2

(3) A (I) W& & T (1) e B |

(4) A (1) 3R (1) ST W& € T HU (I1), 2 (1) F1 S 7 8 |

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134




Which of the following values are necessary in a democratic classroom ?
(A) Group feeling

(B) Obedience

(C) Individualistic feeling

(D) Critical thinking

Choose the appropriate option.

(1) (A) and (B)

(2) (B) and (©)
(3) (A) and (D)
(4) (B) and (D)

T4 | 9 & 9 god Ush YAk el o Tl s7eeaed §7?

(A) -

(B)  ATREHIT

(C) =AfFrTa-aY

(D) A=A fHa
39 fashed = A hife
(1) (A) 3R (B)

(2) (B) ¥R (Q)

(3) (A) ¥R (D)

(4) (B) ¥R (D)

Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135




A teacher wants to teach students about, "how to locate place ? Which teaching material
could be used ?

(A) A globe

(B) A world map

(C) Films

(D) A map of India

Choose the appropriate option :
(1) (A), (B) and ()

(2 (A), (B) and (D)
(3) (B), (C) and (D)
(4) Al (A), (B), (C) and (D)

ek forfarert 297 = 1 o) T =t fearfa & o F S5 e o’ fama yer =medt 81 s o
F s G foreTor SRl 1 9Er HE F9ifE

(A) T

(B) ferger =ht =rem

(C) fred

(D) I T R

39 ferhed =1 gA1E SHif

(1) (A), (B) T (C)

(2)  (A), (B) @1 (D)

(3) (B), (C) T=n (D)

(4)  (A), (B), (C) Tl (D) Tl
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136




Which of the following could be used in an elementary social science classroom while
discussing about ‘gender’ ?

(A) Stories of women's struggle.

(B) Educational participation data of women and men.
(C) A wall paper of gender practices in different societies.
Choose the appropriate option :

(1) Only (A)

(2)  Only (B)
(3)  Only (C)
(4)  (A), (B) and (C)

YrfyeR T 9 GRS fomm 1 e Siet fawd W F= i gU e H o o1 e T
HeFa1 77

(A) wfeensdi % Hod &t Fwifar |

(B) wfgenedl o qedl w1 Hferw wnfierdt F AR

() fafir= wmmsi # yaferd Siet wened =i guriar gai afaua |

UG fahe 1 I3 HIf9T :
(1) e (A)

(2) I (B)

(3) FFd (O

(4)  (A), (B) T (C)

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137




Consider the following statements and choose the correct option.

Statement (I) : Civics as a subject in the Indian school curriculum was the result of
imperial policy of the British Government.

Statement (II) : Civics wasintroduced in view of the increasing disloyalty among Indians
towards the British Raj.

Options :

(1) Only statement (I) is correct

(2) Only statement (II) is correct

(3) Both statements are correct and statement (II) is correct explanation of (I)
(4) Both statements are incorrect.

Frefafad el o2 foar & ik w&t faswey 1 =37+

HUA (1) : W foener ugasd # Anien I uE fawa % w9 H fafew awen ot e Aifa
=1 UoTe o7 |

we (1) - fofew w91 & faeg widt=i 9 sedt aAfser &0 &2 § wad gu Amfes s e @

TaereT :

(1) Fael F2H (1) Tt 21

(2) et wU (1) FEt 7 |

(3) 2 W WE § SR wHA (1), (1) I TE e €

(4) T FUA AR |

Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

An imaginative social science teacher’s skills are best reflected in which of the
following :

(1) Only in notice boards

=)

(2) In simplifying concepts for exam purposes
(3) Inastory telling session during assembly
(4)

4 In plan design and assessment




Frefafed | 9 g § v seumita gmfses faam & e & e 92 w9 9 guafdd 8 €1
(1) e =1-9g |

(2) oiEn o el & ToU Hened sl i Hiel oA H |

(3) HW (THEE) o HHA HA-EEA H |

(4)  AISHI &AM Td e H |

Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

A teacher wants to discuss about various ecosystems in her classroom, which of the
following examples are most appropriate :

(A) Desert

(B) River

(C) Ocean

(D) Coral Reef
Options :

(1) (A), (B) and (C)
(B), () and (D)

2
(3) (A), (C) and (D)
(4) Al (A), (B), (C) and (D)

e foreren a7ot shen  fafirs aiftferfaenta 9= & s & == e = € | e 3 9 S99 e
Hay 3fEd 82

(A) fmmE

(B) el

(©) ¥H5=

(D) &/ =g
ferenew :

(D) (A), (B) 7= (C)

(2)  (B), (C) 7= (D)

(3) (A) (Q) 7= (D)

(4)  (A), (B), (C) e (D) ®+ft




Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

‘Discuss why is the work done by women less valued than that of men in our society 7’
What is the relevance of such a question in Social Science classroom ?

(A) Such questions help in initiating discussion in class.

(B) Such questions help in recognizing discrimination prevalent in society.

(C) Such questions have no fixed answers and have no educational value.

Choose the appropriate option :

(1) (A) and (B)
(2) (B) and (©)
(3) (A) and (C)
(4) AlL(A), (B) and (C)

“ =t it fop T TR TS | Afeensti gr1 R S arer St o gesl st erue w9 Hee fe
S €7 WS fam =6 e | UH geEi i wiHe fory ST T R e € 7

(A) TR 99 a1 H == 1 YEA A § HeEh e ¢ |

(B) X U9 9o H =ATG STHHMME #1 ISR FL H Hed e ¢ |

(C) TF et % ffvad 3w 761 81 € $iR e i dfere e 7L 2 |

I fashed =l 944 HIfaT
(1) (A) =1 (B)

(2) (B) @ (C)

(3) (A (O

(

4) =9 (A), (B) T (C)

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Question ID:- 141




What should be the sources for students to find out the difference between the life style of
people in Brazil and India ?

(A) Pictures from the two countries collected from magazines/internet
(B) Census data of Brazil and India

(C) Trade treaty between Brazil and India

(D) Movies of Brazil and India

Options :

(1) (A) and (B)

(2)  (A)and (D)

(3) (A) (B) and (C)
(4)  (A), (B) and (D)

STSHE TH 9 o @ ol Sia-3el o 9= o 37 &1 9d1 i o fora fornfeai & arg @ €
e =gy ?

(A) ufEmsi/Eee § whiER fwd <l < & o

(B) HWSitel WE WA sl SFRTUMT =l Blel

(C) osiiel Ud HIRd ok s AR |y

(D) oirSiiel U8 e ol fhed

farereu -

Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142




Consider the following statements :

(A) Foran enabling curriculum, certain themes that facilitate inter-disciplinary thinking
are required.

(B) The boundaries of different social science disciplines need to be opened up, and
plurality of approaches may be applied to understand a given phenomenon.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

T el o foar wife

(A) T T Treg=al 3 fou v frug-aag T el & S slafauees e 6 diefE
|

(R) fafir= amfss fosmi =t fava-dmed =t gem # dAavesa § @fs & T8 afeeT #@
e % oI %% 93 o SUNTH T WAE o S EE

el fasheq o1 gAE I

(1) (A) 991 (R) SHi Tel € 31 (R) Tt =M= 3 € (A) |

(2) (A) 31 (R) < Gé & g (R) Wl =amen 1 o € (A) F

(3) (A) HEl & frg (R) e 21

(4) (A) e B, foFg (R) W& 21

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,

. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143




Which of the following is true about generalisations ?

(A) They are statements indicating relationships between two or more concepts.

(B) Generalisation may appear as descriptions, principles, explanations, evaluation
and prediction.

(C) Generalisation cannot be judged as true or false.

(D) They can not be understood fully unless their constituent concepts are understood.

Choose the correct option :

(1)  (A), (B) and (C) only

() (B), (C) and (D) only

(3) (A), (B) and (D)

(4) (A), (C) and (D) only

Frefafad § & @ 1 grr=ism & dd9y § 98 87

(A) 3 AR sifirer Gehouiedl & o % Gei B SR Hd FE T FUH S

(B) HIHIHTER0T SFTehtol, AR, Yokl Us YA i oie Wl & Fehd |

(C) T &l W&l HAET T i aiE Jedishd Te fohal o Tahal g1

(D) 37! §HY &Y Y & WEH S Fehdl] ST G 3h| HEEh Hhed el hl 7 oA 5T Feh |
Wél faseq =1 997 Hifa

(1) <he (A), (B) 3T (C)

(2) e (B), (C) 3R (D)
(3) A (A), (B) 3R (D)
(4) EA (A), (O) 3 (D)
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144




While teaching about historical sources, which of the following questions are relevant for
discussion in the class ?

(A) Who wrote a specific text ?

(B) When was the inscription done ?

(C) Was there any objective for making the painting ?
Options :

(1) Only (A) and (B)

(2) Only (B) and (C)
(3) Only (A) and (C)
(4) (A), (B) and (C)

Ufeeiiaes |idl & i H Yerd 94, fefefad § 9 S 9 999 e | 9it==i & fau qeEfies g2

fawea ;

(1) dd (A) #R (B)
(2) e (B) 3R (Q)
(3) A (A) #R (C)
(4)  (A), (B) 3R (C)

Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145




‘Can you list two ways in which you feel advertising effects issues of equality in a
democracy ?’

What is the relevance of asking such a question in social science classroom ?

(A) To gauge the extent to which the learner has understood the concepts.

(B) To testrecall skills of the students.

(C) To provide space for learners to articulate main ideas of the concept in their own
words.

Choose the appropriate option :

(1) (A) and (B)

(2) (B) and (C)
(3) (A) and (C)
(4) Only (A)

“ 5 ST U < ik o1 Gehd & ToFeh g1 31 T € o e o gre drehd s § S 6 §R
WY g2

grIfsrEr faam it e § TR 999 I8 Hi 0 Y6 872

(A) T e F H Ueg H § (6 GiEd a3 saearnedi #1 gug forn €1
(B) ST % TN % HIvel i e F E |

(C) B = q&a AauRonel g fargsii ol 31 vl H s7ad i 1 T 2 € |
39 fashed o F4H il

(1) (A) @M (B)
(2) (B) @ ()
(3) (A) T Q)
(4) hEC (A)
Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146




A geography teacher found that most of her students performance was poor in a test.
She identifies that they lacked mapping skills. She then plans a systematic intervention to
improve their mapping skills. The teacher is involved in :

(1)
(2
(3)
(4)

Assessment of Learning
Assessment for Learning
Evaluation

Action Research

ATl shi Uk fofeer <@dl 8 o SAfeehot ©15 Uk et 2= H =1gd et & & e :td 2
9% a1¢ 9 faf=d € o5 =90 '9va " Fivre it wH § 1 HI9 v 1 9ol i F fan a9g
gerafeyd & ¥ 3 S A TG FW i A oaqwr ¢ | fafee fre A 9 few  Her ®72

(D
(2)
(3)
(4)

AT 1 A1heH
sy 2 2meher
He iR

FHS TTHHM

Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147

‘Why do people of the Sahara desert wear heavy robes’ ?

This question attempts to assess students” ability to :

(D)
(2)
(3)
(4)

Hypothesise
Reason
Infer
Generalise

i TR T o T 9 95 UgAd © 2 98 WY faenedt &t 1 &Il Sl STish o1 9ATd

A B

(1) wfEReT

(2) o Wt

(3) a1l FreRte

(4) HER ATIH T




Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

In a norm-referenced test on Geography, which of the following design would be most
suitable 7

(1) Essay

(2) Viva-voce

(3)  Multiple-choice-question
(

4)  Practical demonstration

(1) 3949

(2) Hifiges aden

(3) =g faheq o

(4) EIfTH HETH
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

“Make a list of different kinds of land use in your neighbourhood.”
This question attempts to assess students ability to :
1) Introspect

(

(2) Observe
(3) Interpret
(4) Generalize




“ ok wSE H yft 1 svEm frg-faEg R €1 @ €, See gt o)
7 9 forenefi =t T &THAT ST AT 1 T3 il & |
(1) STeATageroo &

(2) FTEEF A
(3) = HA
(4) HHR SFAHHE TFH

Options:-

.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

To do a project on trees in my neighbourhood, what would be the sequence suggested to
students ?

(A) Presentation

(B) Planning data collection
(C) Observation

(D) Recording and Reporting
(E) Discussion

Options

(1) (&), B), (C), (D). (E)
(2)  (B), (C), (D), (A), (E)
(3 (©. (&) (B), (D), (B)
4 (©), (D) (A) (B), (E)




3T STEYTH & &l T Uah 9fEis & < for, faenfei=i =1 gamn 721 sty @0 3 Hehdal 82
(A) fa&qm

(B) 3ile 35l T =i AlSHl

(C) sEeaA

(D) frifen sir ufaaes oega +e
(E) ufte=i

faeea ;

(1) (A), (B), (), (D). (E)

(2)  (B), (C) (D), (A), (E)

(3) (©), (A), (B), (D), (E)

(4) (©), (D), (A), (B), (E)
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Subject : HIN_Q91-99_L1_P2_CTET

Question ID:- 181

fam T TRy o SMUR W U T WYH & I o (O wad Suged fashed ot 99 st |

foreaeaet =1 S 391 Jd YoH IIareal A1 Sl €1 ST S T afHerTs 99 1 HEE
(TS 1 918 ) YR IR T gfag w5 St B fovaeeat & A se-3E gd w®d 91
IR S Bd 1 foeaeeer &l Uk g4 & e SIS fom a1 ged (S[ame) Sifd &1t fdHaE
T G 7 5% 981 % A" O] 9 US] IR o 3SR TR o ST | SR ufa-uett A 98 T 3R Tw
4 3 S  IeT-uey] 51| 39 geqd’ B o R A o1 AH geead 98 | fas’
afiger s F erergees e ¥ 1 sen a1 2-4t | 39 @ o fvaeaa ¥ W 9 ufeg gu) wed €
o 2197 7 1 SRl S o UvET-d S19H O A 9 ST o a9 i She § =l U | Jal
S, I a9 93-93 = Hied ey fean | T gren i o gan &t @ 9 99t 1§ @
=ifen | 3= gt M o fagdl ¥ faare & fomn eiv a1 faa =61 wifa 9 934 1 M w:H
o | Ofa-Tet SFi 9 Fardt sig o 3K T TR % FEl § o6 @ |

fgeeeer a0l i o a1 F199 FHIS H 3 A1 2

(1) Ie I % few
(2) A T T TER
(3) ¥ HHH & fau

(

4) @ = e % & fag

Options:-




.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 4, Option ID : -724

Question ID:- 182

faw T TRy & STTUR T U T UYH T ST o (o1 Had SuHe fashed T 9ae it |

foreaeeieR o1 9 S91 9 WYH S[aeal 91 S0 § 1 SR S W afiag T5F 1 "
(311 1 =13 ) IR AR W gfag wEl Sl €1 favdedat o Aol $eR-38 g9d Wd 9|
IR T B B foeaeqer 1 Tk 94 & =14 B fea o411 Jeqa () Sfd 1w .50
AT i A 3 981 o A= TRl 9L U U1 A IR R & o8 | g1 ufd-ueht 7 98 Te $iR I
Y 39 Al =l -9 {6 | S ‘oedd’ B o R Ak ol A1 gecer 78 A | fae’
affet o § vy I ¥ 1 e 91§41 | 39 ave o fovaeeat % 9™ 9 ufeg gu) wed €
o6 3T 597 ol TRl S o I9ETa-o 3794 HIaT-aar § ST & qUe 3 e ° =l T | =86
£, A a1 -1 o1 Hfed vy fran | fm drn f & Tar w5 8 @ e § @ '
=few | 3= arget T i faget § faare w1 fomn AR oo fuan =1 wifa e g7 %1 &
| gfd-ueh 2A1 o2 Hard a9 IR §el gYhR & FEl H ol w@d |

Torsaee]ay sl T a1 &1 AT o1 7
(1) fog

(2) SR

(3) SR

(4) el

Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
« 3, Option ID :- 727,

« 4, Option ID :- 728,
Answer Given:- 2, Option ID : -726

Question ID:- 183




fouw 1T RN O STUR UT U T U9 1 ST o foTT Wad SUger faaned &1 99w shifeng |
fereareegat o1 57 S91 I8 YW YIlea] 91 STl 8 1 STehT S ¥ ArHerg U R 95

(3111 1 =13 ) IR AR W gfag wEl Sl €1 favdedat o Aol $8R-38 g9d &d 91

IR I B 7 feaee 1 UF 94 % 9 s e o1 aeee (o) sifa # uE e

TS Sl A 5% 981 F e U9l 9 US] I Al SRR & g | 1 ufa-Tet 7 98 W 3R Te

H 39 Al i Ye-9u {1 | T Cdoed’ B & R S o1 A4 Seger g8 @ | fae’

Afer s ¥ STeRg=F s ¥ 1 39 a1 @411 39 o o fovaees F W 9 ufgg gu) wed €

o oT0R S ot FRE! STHA o U9EE- STH HraT-Tar | ST o TUe A e H =5l U F8

S, A a9 A0 1 Hfed e fran | R den o o e w8 a9 g § @ @

=few | 3= arget T i faget ¥ faarg w1 fomn AR oo fua =1 wifa o< g7 %1 &

1 | afa-gei A1 T2 Gdrd Sitg 9 7 el WY & FE H o = |

Ha ' faeaceay’ & AW | ‘goqd’ o @ 19 72

(1) I

(2) I

(3) faae

(4) &

Options:-

.1, Option ID :- 729,

. 2, Option ID :- 730,

. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 1, Option ID : -729

Question ID:- 184




fouw 1T RN O STUR UT U T U9 1 ST o foTT Wad SUger faaned &1 99w shifeng |
foreaeaeR o1 S+ 391 4 WoH YaTa] 91 S €1 36 S T Ao 199 1 HEE
(31 1 92 Y SR gfae wE St €1 foeaeeray % Arar-fodr geR-3ER gy Ed 91
IR S Bid B favaeeer &l T g4 & 4 SIS feu 911 doed (Jamwl) Sifd i v . 59amH
AT T A T g4 % A TH I ISl 9 @l 3SR W S 1 SHI 9id-Teil 7 e T8 AR T
W g9 ieteh o Yo -gr9v foman | 36 ‘eeed’ B o hIRYT sletsh <l A1 degiar 98 A | fae
Afee T § STeT T IeE § 1 39 1 B4t | 39 9%E 9 fovaeeer & 9™ 9 ufag g1 FEd ©
o o197 1 1 TR ST 3 T ST AT far § S o U i Sel 8 =l 70 | 96
I, AT a1 GF-HF 1 hfed 1w fran | fe O T o Tan e @ a1 g § & =
=few | I argert A i faget ¥ faarg s foren iR oo fua =1 wifd Foe g4 %1 & w0
o | afa-get S oS Hardt Sfa & o) e WIveRR F FE H o @l |
feaeeia &l S+ % qid o1 el S1e fear T ar?
(1) < d
(2) FEEFE
(-
(

3)
4) Y W

Options:-

.1, Option ID :- 733,
. 2, Option ID :- 734,
. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 2, Option ID : -734

Question ID:- 185




fa@ T TeryT & AR T U T UYH i I o (o1 Had SUge fashed ahl =g+ shifaid |

freereeier sl ST 91 Jd Yo Ydleal 51 SIA] €1 SR S T AiHeATg T4 o He
(3T W1 =8 ) WX SR v gfag wE St @1 fovaeeat & A o 33 e T'd 91
IR S B 7 eacaa &1 Tk 34 & A 31s fen o1 aeqa (Semn) s F s g
AT S 4 3¢ g4 & 1Y T 9% 9] IR ol SO R o e | g1 ufa-ueh 7 9 e i ae
H 79 wleTe o U -9 A | S Caegd’ 8 % SR etk Sl AT geea 98 7| fas!
affer s H STy EE Iss B 1 T o1 Bt | 3 e 9 fowaeee & W 9 wfag gu) wed €
o 3TO9 ST 1 SR ST o U9ETE-d ST Tl TIar & ST o TUe i e § 96l M0 F8l
S, 0T 9 G9-HF 1 HfeT ey e o g T s Gan = 8 G w9 o @ @
=g | 3= argent Am 1 faget | faare & fomn siv ero faan =61 Wifd 9 9737 =1 & &
o | Tfd-Tel Sl I Fardt sig 9 3 e TR F wEl § o6 wd |

Towaeear | %l HfeT v fohan |
(1) =M, =, qifes famn

Options:-

.1, Option ID :- 737,
. 2, Option ID :- 738,
. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 1, Option ID : -737

Question ID:- 186




fouw 1T RN O STUR UT U T U9 1 ST o foTT Wad SUger faaned &1 99w shifeng |

foeereeeR o1 S 9T Jd W Yamst W1 S § 1 31 9 T 9fHerrg T59 1 HEH
(31 1 9=2) IR AR i gfae wE St T foeaeeray % Ara-fodr 3eR-3E 9 Td 91
IR S B 2 foeaega &1 U 94 % 9 81 fem o1 sega (Jawn) sifd & uE fdam
TG B A T6 981 % A" T91 W TS U Al ISR R @ SR | S 9fa-Tet A 98 g 3R Id
H 39 dieteh o Y -gr9v foman | 3 Ceeed’ B o hIROT seteh <l A1 egar 98 | fas
A 9191 H A= Wek ¢ | 351 319 8-t | 39 e o favaeqed & M | g gu) wed €
o 2799 579 it FHEM ST % IYEE-o 3799 - § SR o T 5 S § = T 6
S, AT G GF-HF 1 hfed ey fran ) fr wren f o o e @ O v § & @
=few | 32 argert A i faget ¥ faare & fomn iR esram faa =1 Wifd Fe g4 &1 &M
o | afa-uett gE7 S Fardt S & iR Te1 RueER F wE H o T

Terte & fo of9r | uan Fera € o Ha foeaeaar @R S Uel 1 T|YE U yehfd 9ueE €2
(1) A7 faan =t wifa w9 79 o

2) Sl A R fage 9 e gen
3) T TR % FHHEl H e

(
(
(4) IR HA ST H =l TG
Options:-

.1, Option ID :- 741,

« 2, Option ID :- 742,

. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743

Question ID:- 187




fau T TTereT o AR T U T W9H o ST o (o1 Had SUge fashed ahl =g+ shifald |

foreareeat o S 91 79 YUY Y] 91 ST 21 ST S R G I59 i IEH
(3T o1 =18 TR 3R v gfag wE St 81 foedeeay % AU Se-3ER g T6d 91
IR S BId 81 foeaeeat %1 U 94 & 4 o fou 91 gewd (Senel) sufd i v fHEaE
TATe] Wi 4 % 9% % Al Tdl 9% gel I dl 33 W S 1 GF| 9id-Ueil 7 98 8 #AR T
Y TH SleTeh o1 Q-9 foRa1 | SF ‘goed’ B % SR deteh @l A geear 98 74| fas
e 1 # ety = vee B 1 79 o1f ¥ 39 e 9 fovaeeer & M 9 ufag gu) #ed €
o 2799 579 il a1 S o ISETE-o 3799 - ¥ SR o a9 R S § = T 98l
S, AT G GF-HF 1 e e feen ) fe O T o Tan @ O oae § & @
=few | 3= argert A i faget ¥ faare . foren iR s fua =1 wifd Foe g4 %1 & w0
o | afa-gett S oS Hardt Sfe 9 o) Ter WieR F FE H o @l |

Fermet gufa fdam &) of
(1) R

(2) =Ag
(3) &b
(4) S

Options:-

.1, Option ID :- 745,
. 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188




fau T TTEryT & AR OT U T U9H o ST o (o1 Had SUge faehed ohl =g+ shifold |

foreareeat o S 91 79 YUY Y] 91 ST 21 ST S R G I59 i IEH
(3T o1 =18 TR 3R v gfag wE St 81 foedeeay % AU Se-3ER g T6d 91
IR S BId 81 foeaeeat %1 U 94 & 4 o fou 91 gewd (Senel) sufd i v fHEaE
TATe] Wi 4 % 9% % Al Tdl 9% gel I dl 33 W S 1 GF| 9id-Ueil 7 98 8 #AR T
Y TH SleTeh o1 Q-9 foRa1 | SF ‘goed’ B % SR deteh @l A geear 98 74| fas
e 1 # ety = vee B 1 79 o1f ¥ 39 e 9 fovaeeer & M 9 ufag gu) #ed €
o 2799 579 il a1 S o ISETE-o 3799 - ¥ SR o a9 R S § = T 98l
S, A G GF-HF 1 Hfed aemr fren ) fe O T o Ton w6 @ O oae § & @
=few | 3= argeRt A i faget ¥ faars & foren iR s fua 1 wifd Fog g4 %1 & w0
o | afa-get S oS Hardt Sfa & o) e WIveRR F FE H o @l |

afaer o # “foe’ 1 o1 ¥ -

(1) foe
(2 A&
(3) frear
(4) Aot
Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189




fa@ T TeryT o SR T U T UYH i I o (o1 Had SUged fashed ahl =g+ shifld |

freereeier sl ST 591 Jd Y9 Ydleal HME1 SIA1 €1 SR S T AiHaATg I59 i JEE
(3T =1 =8 ) Ve SR v gfae #E St 1 fovaceat & A U 3s-3E gEd 'd 91
IR 5 T € feacee 1 U 94 % 9 e fem on) aoa (o) sifa #uE e
AT S 7 3 98 % A9 I 9 Uel IR ol 3o R o 2| g1 ufa-ueht 7 92 g i Te
H 39 wlcie o1 U919 oA | S Caegd’ B % SR el ol AH deqa 98 74| faw
dfeet wT § AT e ¥ 1 35eRt 31 B4t | 39 Te o foeaeeat % 9™ 9 Uies gu1 wed €
o o197 STV 1 TRt ST o T9ET-o ST HTAT-Tar § ST of T S e § =l M0 F8
S, AN G991 d3-H3 &1 Hied 299y foman | T O T &ep 9an 3 & d 99§ & @
= | 3= gt A ot faget | faare & fomn siv ero fian =6t oifq e 979 =1 & &=
o | afd-ae Sl 9 Gard Sfa 9 o) He WIvsR % FE § o6l wd |

(1) W + I9&HR
(2) W+ 9ER
(3) T + ITHR
(4) W+ YER

Options:-

.1, Option ID :- 753,
« 2, Option ID :- 754,
. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 1, Option ID : -753

Subject : HIN_Q100-105_L1_P2_CTET

Question ID:- 190




fau 7T UENYT R STTUR W S T UYH 1 ST ok o1 Tl Suged fashey @t wem s

1rg =1 gl A =8 Fa A e ?
g # wfa o il 1 IR w2
(1) FAF WS
(2) I F W H
(3) 9 ==Y *
(4) wE fHer
Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

el 9 Feld qaT-fed s *;
Sid @ g ok fogan feq g=9e |
3TPHT 1 Ueh O ST ohi STHT H,
TG T T S8 I T Fd |
T | Ferte = yEe foan Hie =5,

TG § R A A6 B 79 oo |

= i FIE-1 3@l dF Sl & ?

Question ID:- 191




fom T eIyt o MU WX UY T UV T SO o [oTU, Herd Suge foaehed st wrEe st |
el R e wo-TeT I %,
o W g & fayan fe =9 |
3P @1 U 9T S okl STHT H,
ToRET T T TSR 1 UE B |
31 | Frere = oER fen Hna &5,
TGl B TIE T 376 S e D |

2T I IH-FR A& 7% S 2 ?

A1g =1 gl | =% Fa A g ?
whfar form fom oot s & =R Ug=N § 2
(1) HFER
(2) HITETER
(3) AR
(4) FewufdEm
Options:-

.1, Option ID :- 761,
. 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192




few U "ertyT & MR WX UD T WY hT ST o [0 Werd Suger faehed T wae whife )
el 9 gerd gav-fad a=e %;
s @ gem = fayen faT =9+ & |
SFHT ! U O3 IRE1 hi STHT 4,
TERAT THEY W [EEA H1 U Fe |
A H Tkt L yEE femn wie @5,

AffE § IR O o Bershl 99 S |

sirge i IR-aR @l 9% Sl S ?
1Y =1 Gew | =g S A g 2

it &1 IN-aR @ q A T i Hehd i & 2
(1) i@l i FHSIR I 1 T F F -

(2) i@l § IS Yol Bl GIE HA H AR

(3) @l ¥ F'd ARG F UM H A

(4) TGOl F G i iwA FI R

Options:-

.1, Option ID :- 765,

. 2, Option ID :- 766,

. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768

Question ID:- 193




fom T eIyt o MU WX UY T UV T SO o [oTU, Herd Suge foaehed st wrEe st |
A 9 gerd gev-fed s= F;
od 1@ g4 o fayan feT g=o o+ |
STV 1 U OX S ohl STHT H,
TR THTIY T, T[ERe T U e |
T H R T gEe fea Je 5,

Gl § AR o 376 SeF 79 Do |

3i=re i IR 7@l d% Sl & ?
1Y =1 G | =g FH1 A ?

fa 3R IiER % &= 70 TE ¥ 9% e Higa wi w5 ife | uw s g2
(1) e =1 J9E

(2) THEU W TE Sed H He o

(3) TGl ¥ IR & TEAH

(4) THF T Y F S

Options:-

.1, Option ID :- 769,
« 2, Option ID :- 770,
. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 3, Option ID : -771

Question ID:- 194




fom T eIyt o MU WX UY T UV T SO o [oTU, Herd Suge foaehed st wrEe st |
el R e wo-TeT I %,
o W g & fayan fe =9 |
S Y U SR S e,
ToRET T T TSR 1 UE B |
31 | Frere = oER fen Hna &5,
TGl B TIE T 376 S e D |

2T I IH-FR A& 7% S 2 ?

A1g =1 gl | =% Fa A g ?
HIF-H T3 THg 9 =1 8 2
() T
(2)  THE
(3) T
(4) TR
Options:-

.1, Option ID :- 773,
. 2, Option ID :- 774,
. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 3, Option ID : -775

Question ID:- 195




fom T wertyT o MU WX UY T UV T SO o [T, Herd Suge faehed @t wrEe st |
el R e wo-feT I %,
o W g & fayan fe =9 |
S Y U WO S Y,
ToRET T W TSR 1 UE B |
31 | Freme 1 oER fean Hna &5,

TG § =R N 316 Seld 79 S |

2T i IH-R A& 7% S 8 ?

A1g =1 gl | =% Fa A g ?
“fer! wisg o form g™ =1 94 TR < gehan ® 2
(1) %k
(2) &d
3) %
(4) =m
Options:-

.1, Option ID :- 777,
« 2, Option ID :- 778,
. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 2, Option ID : -778

Subject : HIN_Q106-120_L1_P2_CTET

Question ID:- 196

T YR oh G § Sl o Ush HHE gH1 Hieh fohu 71 18 Weh {1 HFehi i forg ©9 H foram s
=feu ?
(1) e TS (e ygfer)

(2) i HHH

(3) =k wEfH

(4) T HESH
Options:-

.1, Option ID :- 781,
« 2, Option ID :- 782,
« 3, Option ID :- 783,
. 4, Option ID :- 784,




Answer Given:- 4, Option ID : -784

Question ID:- 197

T aifas ge Hien & fau v B Sge! st fves vea | S sgd ot gt o
YN STk IHeh! HEE FAl ¢ | 3N FS WEE 9IE 98 Ygd ol 715 ¢ | * fare1 " o & 91’ i
‘T faem T T @ FHEerd B 2

(1) Frgormn sifepmm =1 &

(2) HeMHdl STl

(3) Treey famm &1 &

(4)

T 37519 SYHT0T

Options:-

.1, Option ID :- 785,
« 2, Option ID :- 786,
« 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198

STt & STTIR A o Aiedsh H§ AFHE e & S A 9T SIS T § HerHd !
1 9 1 e S ?

(1) =AEEIEF S

(2) wEHHS R

(3) HHAHEH SR

(4) Tl g AR
Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

« 4, Option ID :- 792,
Answer Given:- 2, Option ID : -790

Question ID:- 199




Tl A STAYL S % T ST9AT SR R 8 1 35k Tl &8 24 i 999 9Rofl 98 @i €1 39
e % Y2 ] 1 gl S ?

(1) =& d T 924

(2) @l § UA

(3) A fargd e

(4) 9§ e
Options:-

.1, Option ID :- 793,
« 2, Option ID :- 794,
« 3, Option ID :- 795,

. 4, Option ID :- 796,
Answer Given:- 2, Option ID : -794

Question ID:- 200

1 |d H Ueh ALY 379+ faenferii 1 u s1=0 faay & fau wedl 81 <@ o1 9gan
O] - g1 F1eU ?

(1) &gy
(2) HEY s
(3)  HHIET HEA
(4) HUEA
Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
« 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798

Question ID:- 201

] AT 1 AR IR TR T il 82

(1) 39S ohi<gd SUFTH
(2) Toreneit f=a 3urm
(3) gl HI Hepfd
(4) e H WK

Options:-

.1, Option ID :- 801,
« 2, Option ID :- 802,

« 3, Option ID :- 803,




. 4, Option ID :- 804,
Answer Given:- 2, Option ID : -802

Question ID:- 202

T 3IEAYF a1 — 6 & faeanf¥=i & gau S &1 ST & Irdr ¢ | Aefafed 5 8
A Jf GaU WA & SR i T ITYR TfArere g ?

(1) ety ue fom faamd 2 SR faenf 1 s ave & & fou #ad 8

(2) srefuss faenfeli =61 g7 T & SUNR W aiferel T R % fau Fwadt &

(3) erafuem fanfeli =1 3@ U gw afig (WEY) w0 ave F % fon wed @

(4)  syemieR forenfer =61 & 18 Yo Wl TR ved % for et 7

Options:-

.1, Option ID :- 805,
« 2, Option ID :- 806,
. 3, Option ID :- 807,

« 4, Option ID :- 808,
Answer Given:- 2, Option ID : -806

Question ID:- 203

ST 718 <@ T § R = S St i WS- st e (Fim #e) 39§ )3 e
Y9 H <@l S Hien ?

(1) &= i I sRaRl 3R 39 saen & fHerfed & wfee

(2) foraan HieH 1 AR =900 SR $H A% 1 Wiedifed el ey

(3) T[T TS hIRIEA % foehTE T =/

(4) TF T 3MEd & AR T4 1 UG A FT A T < e

Options:-

.1, Option ID :- 809,
« 2, Option ID :- 810,
« 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810

Question ID:- 204

a1 H gt it Tl S G sHE HA-H F?
(1) &9 (HIRH)

(2) =tEm (=)
(3) @ A

(4) e fagm




Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,
. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205

oo faehT &1 it gd =X S | 8 ?
(1) Hf&=r arF

(2) ¥ Frefoa A

(3) < W g

(4) T AR FHAH

Options:-

.1, Option ID :- 817,
« 2, Option ID :- 818,
« 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 4, Option ID : -820

Question ID:- 206

ag w1 streEr oty foes fenfEi=i 1 s1eiqol ard=id 9§ 9r oF & dAa9 iU STd § 317 Sieq &
aretaes feafai =1 |9 3 & foan diemtied foren a8, @ e § 2

(1) EEAras fafy

(2) weae fafy

(3) wEWUCHS fafy

(4) =HRRL 37 fafy
Options:-

.1, Option ID :- 821,
« 2, Option ID :- 822,
. 3, Option ID :- 823,

« 4, Option ID :- 824,
Answer Given:- 3, Option ID : -823

Question ID:- 207




T refyent 3 <@ Tk 3ok faenedt s19 <gA § gat ot Tefad R @ €| IR 39 UEE &
HHTYA ok feAu s1eamek =1 -1 foeon i g3 ! =iy ?
(1) S=IR & SH

(2) WY fEEm
(3) HER YA
(4 gieE
Options:-

.1, Option ID :- 825,
. 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Question ID:- 208

T sreAfteR e qe & a=i w1 a2t e Teh ee & fore St € i fre 3 fei o A
T gaH & fou el 81 72 =4 1 fory 9@ 8 Heg it 22
(1) Hureere! ey a9 §

(2) Tk YA TAHF HRI & foFE H

(3) I forarae | gun @H & fag

(4) TEH 9 AcATGYE! SR H= o a1 |
Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
« 3, Option ID :- 831,

« 4, Option ID :- 832,
Answer Given:- 1, Option ID : -829

Question ID:- 209

% Ut Feeres fafe foed fed <t @ v faw = = faenfefei & sdam @ 4 52 F91 %,
1 ThHge ?

(1) o9u sifaes gfafswan

(2) @i e

(3) WERIEA

(4) fyes e
Options:-

.1, Option ID :- 833,




« 2, Option ID :- 834,
« 3, Option ID :- 835,

« 4, Option ID :- 836,
Answer Given:- 2, Option ID : -834

Question ID:- 210

Fereferfian @S- TaT 9 2 e @ 22

(1) SIgHM Tl

(2)  HRIEERTT

(3) f=rd faemre

(4) EHEA
Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

« 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Subject : Sanskrit_Q121-128_L2_P2_CTET

Question ID:- 331




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEVl: TSP Hedd YN T TR sl | Taur STy Jued fmgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATISH Gure Afcehfoad 9fedq | ufeda o e U <3l e a san- =1 vd uiafadt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
STRIAATHM: o=, U o Sguidn: ome| swm & 39 qerm: e W, st sew <9
Treraf<

THER: 3 TRl Ve TERIHHIGUN el SN | TSR e HEY veeisd ST
JEEfd | h: TSER: 2 F: TSARETY gRAfd 9 TSE: TSiE U AgEshE S9gad | TS
Fremmafmmnferet deafE e TEia Faw: T el fersy 9| gegd: 9i |

TSIERT: SRR S | BhTH ATHTOT FHTST el TRCHHTSH o1 787 7o R0 G Jere=e
= qfaed e et @ | RHESE ey e sEif gased eyt s d
S TEda - &, Aiaaeqy ki1 © ST Ha- ¥ | 9fder o 7 Jrafa ¥ 498 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

TSERT: o SE ?

(1)  deh:

(2) TEUIER:

(3) FEHPNE:

(4) ETEIRR
Options:-

.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 4, Option ID : -1324

Question ID:- 332




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEVl: TSP Hedd YN T TR sl | Taur STy Jued fmgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATISH Gure Afcehfoad 9fedq | ufeda o e U <3l e a san- =1 vd uiafadt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
STRIAATHM: o=, U o Sguidn: ome| swm & 39 qerm: e W, st sew <9
Treraf<

THER: 3 TRl Ve TERIHHIGUN el SN | TSR e HEY veeisd ST
JEEfd | h: TSER: 2 F: TSARETY gRAfd 9 TSE: TSiE U AgEshE S9gad | TS
Fremmafmmnferet deafE e TEia Faw: T el fersy 9| gegd: 9i |

TSIERT: SRR S | BhTH ATHTOT FHTST el TRCHHTSH o1 787 7o R0 G Jere=e
= qfaed e et @ | RHESE ey e sEif gased eyt s d
S TEda - &, Aiaaeqy ki1 © ST Ha- ¥ | 9fder o 7 Jrafa ¥ 498 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

‘g sgufud e s A srerg R 2

(1) SEHfer:

(2)

(3) T

(4)
Options:-

.1, Option ID :- 1325,
. 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 1, Option ID : -1325

Question ID:- 333




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEWl: TSR Hedd YN A Tk sdl | Taur STy ued famgfagory uwesy,
Frafon = SeeR ST | Tad U g3 | ST I Hed o TaEe: 1 W famay feerty
TATIG A GHre Afcshfoad afedq | ufeda o HureH U a3l Hesh® scdan- =1 ud ufafadn |
3T wTSd e T S Ha 3T 9% STHeyEy UAEd: GeNTH o teEtd B 37 3
ST S, X o Sguidn: ol ew f ¥ qemm: faffee w, Fofadsfr s <9
et )

TS 2 Gl ves: TERTHEU |Gt TN | ST e YA eaisy T
gelfd | F: TSTE: 2 9 TS HREATT W TSE: TSAT U HI9AeRE SYgsad | HETS
PR TRat g% TR Jaw: TER: 3aF ey F& qHgd: Ji |

TS ARG ST | ShTH ATHTOT FHTSI Weald TRCHHTSH o1 78 e T e gas-e
= g TER: et v | RS AT et e tase S S 9
Al FEaat-a ™, Jiadeqy Seedata © STHROYRA 96 & | gfaer o 7 Jraf< W 9g 2
=i A @H:I?ﬂﬁﬂﬂﬁﬁaﬂﬂﬁ A= TSN FEEY GEEd T e
forfegs=: |

AT HgHE o A Yl 7

(1) d=srm
(2) e
(3) S
(4) &
Options:-

.1, Option ID :- 1329,
. 2, Option ID :- 1330,
. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 4, Option ID : -1332

Question ID:- 334




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEWl: TSR Hedd YN A Tk sdl | Taur STy ued famgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATIG A GHre Afcehfoad 9fedq | ufeda o Hure Uk <3l Hesh® sodan- 9= ud uiafadrt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
ST o, G o Sguidn ome| ewm fg 39 qerm: e w, st s <9
Teraf<1 =

THER: 3 TR VS TERIFHIGUN el Sne | TSR hyiue HEY veelsd ST
JEEfd | h: TSER: 2 F: TSARET gRAfd 9 TSE: TSiE U HigEshE S9gad | TS
Fremmafmmnferet deafE e TR Jew: T 3aHl feasy 98 qegd: 9i |

TSERT: AR S | FhTH ATHIOT FHTSI Weld TRCHHTSH o1 787 76 R0 e g
= qfaed e et @ | RHESE ey e sEif gased eyt s d
TS TEAa -0 &, Hiadeqy ki1 © ST Ha- ¥ | 9fder d 7 Jrafa ¥ 48 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

; TSTYRETY ORAT W & HE 2

(1) s
(2) TSHL
(3) SAT=HN
(4) =BRYL:
Options:-

.1, Option ID :- 1333,
. 2, Option ID :- 1334,
. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 2, Option ID : -1334

Question ID:- 335




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEVl: TSP Hedd YN T TR sl | Taur STy Jued fmgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATISH Gure Afcehfoad 9fedq | ufeda o e U <3l e a san- =1 vd uiafadt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
STRIAATHM: o=, U o Sguidn: ome| swm & 39 qerm: e W, st sew <9
Treraf<

THER: 3 TRl Ve TERIHHIGUN el SN | TSR e HEY veeisd ST
JEEfd | h: TSER: 2 F: TSARETY gRAfd 9 TSE: TSiE U AgEshE S9gad | TS
Fremmafmmnferet deafE e TEia Faw: T el fersy 9| gegd: 9i |

TSIERT: SRR S | BhTH ATHTOT FHTST el TRCHHTSH o1 787 7o R0 G Jere=e
= qfaed e et @ | RHESE ey e sEif gased eyt s d
S TEda - &, Aiaaeqy ki1 © ST Ha- ¥ | 9fder o 7 Jrafa ¥ 498 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

FfafEduey qe g 18 T ?
(1) =d

(2) TfeTq

(3) ufifem:

(4) foam

Options:-

.1, Option ID :- 1337,
. 2, Option ID :- 1338,
. 3, Option ID :- 1339,

. 4, Option ID :- 1340,
Answer Given:- 1, Option ID : -1337

Question ID:- 336




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEWl: TSR Hedd YN A Tk sdl | Taur STy ued famgfagory uwesy,
Frafon = SeeR ST | Tad U g3 | ST I Hed o TaEe: 1 W famay feerty
TATIG A GHre Afcshfoad afedq | ufeda o HureH U a3l Hesh® scdan- =1 ud ufafadn |
3T wTSd e T S Ha 3T 9% STHeyEy UAEd: GeNTH o teEtd B 37 3
ST S, X o Sguidn: ol ew f ¥ qemm: faffee w, Fofadsfr s <9
et )

TS 2 Gl ves: TERTHEU |Gt TN | ST e YA eaisy T
gelfd | F: TSTE: 2 9 TS HREATT W TSE: TSAT U HI9AeRE SYgsad | HETS
PR TRat g% TR Jaw: TER: 3aF ey F& qHgd: Ji |

TS ARG ST | ShTH ATHTOT FHTSI Weald TRCHHTSH o1 78 e T e gas-e
= g TER: et v | RS AT et e tase S S 9
Al FEaat-a ™, Jiadeqy Seedata © STHROYRA 96 & | gfaer o 7 Jraf< W 9g 2
=i A @H:I?ﬂﬁﬂﬂﬁﬁaﬂﬂﬁ A= TSN FEEY GEEd T e
forfegs=: |

‘g - o v U famee: T waq ?

(1) da

(2) el + T

(3) sfd + war

(4) + 1
Options:-

.1, Option ID :- 1341,
. 2, Option ID :- 1342,
. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 3, Option ID : -1343

Question ID:- 337




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEWl: TSR Hedd YN A Tk sdl | Taur STy ued famgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATIG A GHre Afcehfoad 9fedq | ufeda o Hure Uk <3l Hesh® sodan- 9= ud uiafadrt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
ST o, G o Sguidn ome| ewm fg 39 qerm: e w, st s <9
Teraf<1 =

THER: 3 TR VS TERIFHIGUN el Sne | TSR hyiue HEY veelsd ST
JEEfd | h: TSER: 2 F: TSARET gRAfd 9 TSE: TSiE U HigEshE S9gad | TS
Fremmafmmnferet deafE e TR Jew: T 3aHl feasy 98 qegd: 9i |

TSERT: AR S | FhTH ATHIOT FHTSI Weld TRCHHTSH o1 787 76 R0 e g
= qfaed e et @ | RHESE ey e sEif gased eyt s d
TS TEAa -0 &, Hiadeqy ki1 © ST Ha- ¥ | 9fder d 7 Jrafa ¥ 48 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

T ey 2 S e W ?

(1)  TIE:

(2) dSHE:

(3) Tafege:

(4) T
Options:-

.1, Option ID :- 1345,
. 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 4, Option ID : -1348

Question ID:- 338




sreliferfiad enyi ufsen womi fashearareahay sfemay 3w3 e forem |

TAYl: HEEVl: TSP Hedd YN T TR sl | Taur STy Jued fmgfagory uwesy,
TrHiqgo = SUERY ST | Tad Teheh S = S8 Wdeh Hes a1 EFa: ¥ | T fauray fgomey
TATISH Gure Afcehfoad 9fedq | ufeda o e U <3l e a san- =1 vd uiafadt |
3T WS HAfE i fSarn Ha 3y 9 STHIeyEy UAEd: GeNTH o teEtd w1 o A
STRIAATHM: o=, U o Sguidn: ome| swm & 39 qerm: e W, st sew <9
Treraf<

THER: 3 TRl Ve TERIHHIGUN el SN | TSR e HEY veeisd ST
JEEfd | h: TSER: 2 F: TSARETY gRAfd 9 TSE: TSiE U AgEshE S9gad | TS
Fremmafmmnferet deafE e TEia Faw: T el fersy 9| gegd: 9i |

TSIERT: SRR S | BhTH ATHTOT FHTST el TRCHHTSH o1 787 7o R0 G Jere=e
= qfaed e et @ | RHESE ey e sEif gased eyt s d
S TEda - &, Aiaaeqy ki1 © ST Ha- ¥ | 9fder o 7 Jrafa ¥ 498 g
;9 uéqn?ﬂziﬂnrﬁrawﬁ AfI= T FHEENT S 1| 9 QHF@TW:
forfeqea: |

e o 7 et =2

(1) TRMAESE
(2) WifeeTT= TRl
(3) ToH
(4) T
Options:-

.1, Option ID :- 1349,
« 2, Option ID :- 1350,
. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 4, Option ID : -1352

Subject : Sanskrit_Q129-135_L2_P2_CTET

Question ID:- 339




srenferfiad ey ufswar UvArT fasheurdentt e Sfedaand S o |

U TEeHT - TIrsm gg aanior diefarme = s | Hel-Te) aSiaH ey s
q: drel ag-a: = T ysmrrata w5 | e S 99 51 SEn-aag: 93 | "ere [
HEYH el @ FeArEey 3faw: | e e 93 AT Ush WaHeh-THE 25el YL
HHITEY U Ueh 98 Heawy e oeqr 9 e gifuaa ) fbe: wermmy sissr fria: =
OO | BT HalcHl 38 4 A A | e i g&d staetd aen fera: g2 ffee sivaq
ql

HEAEA: e wee 09 o0 fors gy gitem: §: fohfe v U T A Iq T
- Hi&eh1 HEleHA: AHERM AR | 7F HeleH 3= oAIhal: AN | 35 2wal fr: WA guar
-4 | g Tty SIrTd g var e ofid:, OO ST Uk 9 Hfereran Sy €9 gue S
A ! 38 forH ? HeToH Sol SUar-UH | 9e1 378 HIanEAl He S, A | AU &dl 68
e’ =fd 1 4 S9: SYe YR I:, W: Wel wWad My wafd | =g 949: g safim:, 99 9 Te-us
fergg-—wea: fasfa |

‘a1 312 A WE e - 3 s A s T et 2

(1) 3feq
(2) ==
(3) A«
(4) THq
Options:-

.1, Option ID :- 1353,
. 2, Option ID :- 1354,
. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 1, Option ID : -1353

Question ID:- 340




et Teryi ufewT Ueam fasheurdentved: Sferdand Sui faam |

Ush: HEeHT - TIrsm g Sqanior diefarne T sTHid | 91 aSiar e s
qA: drel ag-a: = e gt o | e S 99 531 SEn-gad: 936 | Here [
HEUH el Wd gy 3ufa: | forer: SR a9 ST T YA THE 25a YA
[HIIEY Ud Ueh 94 Heawy e oeqH 9 e gifuaar ) foe: wereamy sisr frfa: =
U | BT HEleHl 38 Td = S | e i g&d staetd aen fera: g1 ffee smvaq
el

HEAEAT: g weren go: ol foetn uy gt 9: fRfed @ g e siq aq T
- Hi&eh1 HEleH: HERM AT | 77 HeleHl =< SHIhal: AV | 38 2wa I A goar
- | e Tty rTd g v/ A o, 9O S Ut arr it iy 28 s Snd:
#verd | 38 fRH ? HRTe SR Ser- 93 | a1 318 HIAnTEsA] He WY, A F U ©d 68
Ffeg" 2fq 1 =; W:WWW:,H:WH&H%@: uaﬁl?maa:a:{aaﬁaa:, T 9: J2-U<
m—ﬂ?ﬁ:ﬁgﬁll

T5E =wan fors: &y e ?

() 3«
(2) o9
(3) e
(4) R
Options:-

.1, Option ID :- 1357,
. 2, Option ID :- 1358,
. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 4, Option ID : -1360

Question ID:- 341




srenferfiad ey ufswar UvArT fasheurdentt e Sfeaand S o |

Ush: HEeHT - TIrsm g Sqanior diefarne T sTHid | 91 aSiar e s
qA: drel ag-a: = e gt o | e S 99 531 SEn-gad: 936 | Here [
HEUH el Wd gy 3ufa: | forer: SR a9 ST T YA THE 25a YA
[HIIEY Ud Ueh 94 Heawy e oeqH 9 e gifuaar ) foe: wereamy sisr frfa: =
U | BT HEleHl 38 Td = S | e i g&d staetd aen fera: g1 ffee smvaq
el

HEAEAT: g weren go: ol foetn uy gt 9: fRfed @ g e siq aq T
- Hi&eh1 HEleH: HERM AT | 77 HeleHl =< SHIhal: AV | 38 2wa I A goar
- | e Tty rTd g v/ A o, 9O S Ut arr it iy 28 s Snd:
#verd | 38 fRH ? HRTe SR Ser- 93 | a1 318 HIAnTEsA] He WY, A F U ©d 68
Ffeg" 2fq 1 =; W:WWW:,H:WH&H%@: uaﬁl?maa:a:{aaﬁaa:, T 9: J2-U<

m—ﬂ?ﬁ:ﬁgﬁll

‘' 3f e wee Favdiaeie ue e fae sifi 2
(1) =r=me:
(2) T
(3) ifea:
(4) T

Options:-

.1, Option ID :- 1361,
. 2, Option ID :- 1362,
. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 1, Option ID : -1361

Question ID:- 342




srenferfiad ey ufswar UvArT fasheurdentt e Sfeaand S o |

Ush: HEeHT - TIrsm g Sqanior diefarne T sTHid | 91 aSiar e s
qA: drel ag-a: = e gt o | e S 99 531 SEn-gad: 936 | Here [
HEUH el Wd gy 3ufa: | forer: SR a9 ST T YA THE 25a YA
[HIIEY Ud Ueh 94 Heawy e oeqH 9 e gifuaar ) foe: wereamy sisr frfa: =
U | BT HEleHl 38 Td = S | e i g&d staetd aen fera: g1 ffee smvaq
el

HEAEAT: g weren go: ol foetn uy gt 9: fRfed @ g e siq aq T
- Hi&eh1 HEleH: HERM AT | 77 HeleHl =< SHIhal: AV | 38 2wa I A goar
- | e Tty rTd g v/ A o, 9O S Ut arr it iy 28 s Snd:
#verd | 38 fRH ? HRTe SR Ser- 93 | a1 318 HIAnTEsA] He WY, A F U ©d 68
Ffeg" 2fq 1 =; W:WWW:,H:WH&H%@: uaﬁl?maa:a:{aaﬁaa:, T 9: J2-U<
m—ﬂ?ﬁ:ﬁgﬁll

TR o BT ?

(1) =97
(2) HIHA
(3) gf=eH
(4) HfaER
Options:-

.1, Option ID :- 1365,
. 2, Option ID :- 1366,
. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 4, Option ID : -1368

Question ID:- 343




srenferfiad ey ufswar UvArT fasheurdentt e Sfedaand S o |

U TEeHT - TIrsm gg aanior diefarme = s | Hel-Te) aSiaH ey s
q: drel ag-a: = T ysmrrata w5 | e S 99 51 SEn-aag: 93 | "ere [
HEYH el @ FeArEey 3faw: | e e 93 AT Ush WaHeh-THE 25el YL
HHITEY U Ueh 98 Heawy e oeqr 9 e gifuaa ) fbe: wermmy sissr fria: =
OO | BT HalcHl 38 4 A A | e i g&d staetd aen fera: g2 ffee sivaq
ql

HEAEA: e wee 09 o0 fors gy gitem: §: fohfe v U T A Iq T
- Hi&eh1 HEleHA: AHERM AR | 7F HeleH 3= oAIhal: AN | 35 2wal fr: WA guar
-4 | g Tty SIrTd g var e ofid:, OO ST Uk 9 Hfereran Sy €9 gue S
A ! 38 forH ? HeToH Sol SUar-UH | 9e1 378 HIanEAl He S, A | AU &dl 68
e’ =fd 1 4 S9: SYe YR I:, W: Wel wWad My wafd | =g 949: g safim:, 99 9 Te-us
fergg-—wea: fasfa |

"gftgaar st ST 98 & wer: sif 2

(1) &
(2) @
(3) ®dg
(4 41
Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,
. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 3, Option ID : -1371

Question ID:- 344




srenferfiad ey ufswar UvArT fasheurdentt e Sfeaand S o |

Ush: HEeHT - TIrsm g Sqanior diefarne T sTHid | 91 aSiar e s
qA: drel ag-a: = e gt o | e S 99 531 SEn-gad: 936 | Here [
HEUH el Wd gy 3ufa: | forer: SR a9 ST T YA THE 25a YA
[HIIEY Ud Ueh 94 Heawy e oeqH 9 e gifuaar ) foe: wereamy sisr frfa: =
U | BT HEleHl 38 Td = S | e i g&d staetd aen fera: g1 ffee smvaq
el

HEAEAT: g weren go: ol foetn uy gt 9: fRfed @ g e siq aq T
- Hi&eh1 HEleH: HERM AT | 77 HeleHl =< SHIhal: AV | 38 2wa I A goar
- | e Tty rTd g v/ A o, 9O S Ut arr it iy 28 s Snd:
#verd | 38 fRH ? HRTe SR Ser- 93 | a1 318 HIAnTEsA] He WY, A F U ©d 68
Ffeg" 2fq 1 =; W:WWW:,H:WH&H%@: uaﬁl?maa:a:{aaﬁaa:, T 9: J2-U<
m—ﬂ?ﬁ:ﬁgﬁll

gereq fermef foreo gg T=sfa & 2
(1) e
(2) T
(3)  wme
(4) TSI
Options:-

.1, Option ID :- 1373,
. 2, Option ID :- 1374,
. 3, Option ID :- 1375,

. 4, Option ID :- 1376,
Answer Given:- 4, Option ID : -1376

Question ID:- 345




srenferfiad ey ufswar UvArT fasheurdentt e Sfeaand S o |

Ush: HEeHT - TIrsm g Sqanior diefarne T sTHid | 91 aSiar e s
qA: drel ag-a: = e gt o | e S 99 531 SEn-gad: 936 | Here [
HEUH el Wd gy 3ufa: | forer: SR a9 ST T YA THE 25a YA
[HIIEY Ud Ueh 94 Heawy e oeqH 9 e gifuaar ) foe: wereamy sisr frfa: =
U | BT HEleHl 38 Td = S | e i g&d staetd aen fera: g1 ffee smvaq
el

HEAEAT: g weren go: ol foetn uy gt 9: fRfed @ g e siq aq T
- Hi&eh1 HEleH: HERM AT | 77 HeleHl =< SHIhal: AV | 38 2wa I A goar
- | e Tty rTd g v/ A o, 9O S Ut arr it iy 28 s Snd:
#verd | 38 fRH ? HRTe SR Ser- 93 | a1 318 HIAnTEsA] He WY, A F U ©d 68
Ffeg" 2fq 1 =; W:WWW:,H:WH&H%@: uaﬁl?maa:a:{aaﬁaa:, T 9: J2-U<
m—ﬂ?ﬁ:ﬁgﬁll

T -OY FL Fay: = Ar=sfd =2

(1) i

(2) FF-SiEEH

(3) STy

(4) HIHATH
Options:-

.1, Option ID :- 1377,
. 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 2, Option ID : -1378

Subject : Sanskrit_Q136-150_L2_P2_CTET

Question ID:- 346

weRE R frfere fardt ferfag aresivmg wenfudedt | e1eM, U I UH: BE: OIS

qafd, ded=i 99 Hifgsedy WHeuieTs HUAfd | a0 WA Th #iie a7 9<v ferafd) o
Tfafafen: -

(1) AifereR: gaora:

(2) Tt gdei@: (Running dictation)
(3) YS! ghoia:

(4) w@fred: gaea: (Jigsaw dictation)

Options:-
.1, Option ID :- 1381,

« 2, Option ID :- 1382,




. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 2, Option ID : -1382

Question ID:- 347

IS F9H Uk Uied, el Kl o1 YSH:, 981 G9H WNEEATGYIRE WA WA HH: de1 9
e eTH: I 37 fob wiawafd | uaq semd -

(1) eeffagmEgan: (Semantic cues)
(2) EEAIHSRHG: (Structural cues)
(3) Hﬁﬂﬁaﬂﬂﬁm (Syntactic cues)
(4) Wﬁ"ﬂﬂéﬂ ( Thematic cues )

Options:-
.1, Option ID :- 1385,

« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 2, Option ID : -1386

Question ID:- 348

7S DA Y, F i, Tofae AU Aq Uh 9 Tk D6 ST SHeEeE fae
FAVTUET AR Aty SAfHeha: Sageh: SATHId | 9: SASHTE il 490 | Uad Fe7 2 -

(1) ﬁf%ﬁqaavrq (Passive listening )
(2) wfafafrageemm (Reflective listening )
(3) ‘Jlﬁl?f_t'[’ﬂﬁlﬂrq (Combative listening )
(4) wEEHTIH (Post listening )

Options:-

.1, Option ID :- 1389,
« 2, Option ID :- 1390,
« 3, Option ID :- 1391,

« 4, Option ID :- 1392,
Answer Given:- 3, Option ID : -1391

Question ID:- 349




HehaITHIIS d: e sfelemft sy st -
(1) US4 7 g 9fa¥ee (Individual word)

(2) Wy A g U
(3) 9 7 g wfaeres
(4) wfTvREEs w1 7 g ey

Options:-

.1, Option ID :- 1393,
« 2, Option ID :- 1394,
. 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 4, Option ID : -1396

Question ID:- 350

TR qTRT, Far ffaer usafd, qa o ue gyifasqy wewhmthd: gf, 99 = d
Trfararan wreamT ferfer foat= 1| o e |f= -
(1) feoguiterad (Note taking)

(2) Y9I (Notice writing)
(3) wRIEA
(4) TEIYREA

Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

« 4, Option ID :- 1400,
Answer Given:- 1, Option ID : -1397

Question ID:- 351

Rd feremertatagmai sgfuraran: (Multiingualism ) &: ST199; ?

(1) TSI ITSevaHTe = TS 352 SHETEI A& GAT: |

(2) FEEFYREdTETel aRay, a: B Gufaasyu seeHEm ST 39 wEerE |
(3) Uk @A foRIed YEswanvl stireTeEn: sy |

(4) HrgHrEE: yrs o=t strerymen = - warE frmemon fovayon |

Options:-

.1, Option ID :- 1401,

« 2, Option ID :- 1402,
« 3, Option ID :- 1403,

« 4, Option ID :- 1404,




Answer Given:- 1, Option ID : -1401

Question ID:- 352

FATHFREIAL: Ueh! SEATR] STH e DTEAVT HIFeR 9 STfveafhed Seeo wd Afade: |
IIRETI] 376 STvATEre a1 S Her: oAl

(1) @rdfem (Dialogue)

(2) FHYTA (Pantomine)

(3) f:9=g98T (Silent reading)

(4) &fTE (Mime)

Options:-

.1, Option ID :- 1405,
« 2, Option ID :- 1406,
« 3, Option ID :- 1407,

« 4, Option ID :- 1408,
Answer Given:- 4, Option ID : -1408

Question ID:- 353
Ty: o= aq SR 87:9%9eh: (Social interaction ) H‘Wﬁﬁ’lm E[EfﬁTgI: weFifa sfa A
Heeqfud: ?

(1) & =R (Lev Vygotsky )

(2) =i farS (Jean Piaget)

(3) ™ ===l (Noam Chomsky )

(4) @t U, T=RsR (B.F. Skinner )

Options:-

.1, Option ID :- 1409,

« 2, Option ID :- 1410,

. 3, Option ID :- 1411,

« 4, Option ID :- 1412,
Answer Given:- 1, Option ID : -1409

Question ID:- 354

e frferert Weuifsqeaiened: S -5 TRIRAA SeryeE™ Hiewufd | marees stehad w1
q: HgUSH Y gH=sld | sifaiady 9aeuey %: taed Hgwgui: T -

(1) farenfe ameEg

(2) HEFR{gERIH

(3) W@y

(4) Hwem: (Coherence)




Options:-

.1, Option ID :- 1413,
. 2, Option ID :- 1414,
. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 4, Option ID : -1416

Question ID:- 355

stefifafady foh Ue%a ey = 217 -

(1) ga: (Connectin g)

(2) YAHYTH (Predicting)
(3) & Hogeh: ( Interacting)
(4) HASHH (Synthesizing)

Options:-

.1, Option ID :- 1417,
« 2, Option ID :- 1418,
. 3, Option ID :- 1419,

« 4, Option ID :- 1420,
Answer Given:- 4, Option ID : -1420

Question ID:- 356

el TorfareRl BEM YRfEaE Yieques AreneiiEa gsusiivl (Handouts) ST F=3fd | 1Y
BRI T Uedeh: U8: veg; A fafied: | 71 e am veer fafag it | won adian 1 e 2
(1) Al & (A cloze test)

(2) BT
(3)  HrwfTeTETH
(4) AT
Options:-

.1, Option ID :- 1421,
. 2, Option ID :- 1422,
« 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

Question ID:- 357




TR Fedi 99 Afe a8 a7 forerd -

(1) EUCHRNZEMA HREH (Challanging drills)
(2) HEHHFHA TA1 (Integrated manner)

3) fafaauiom sramm 3 qreEe

(4) FHIGAA — FIUH FETOH TSTH @ 9
Options:-

.1, Option ID :- 1425,

. 2, Option ID :- 1426,

. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 2, Option ID : -1426

Question ID:- 358

g Tyfdees (Report) Uf shad | o Taq gAufedd HeNE 2 Farf | sihe =ty auifeaam:
3G 7 AR T SRR JeA: A A | | |: @i Wowd g wien: A ) g
ey sRar: i W fowd -

(1) Yoty

(2) UET:

(3) sTIfEEmeT
(4) W
Options:-

.1, Option ID :- 1429,
« 2, Option ID :- 1430,
. 3, Option ID :- 1431,

« 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

HTHRUTIET ‘fa9shaH ( Declarative Knowledge ) 3fd #&1 1 &dd ?

(1) SAEROTcHR T FamfeaTTesy

(2) SHAEROIETE] AR

(3) SEEIWHRIEaTIET

(4)  srefaerore fomfarresy
Options:-

.1, Option ID :- 1433,
« 2, Option ID :- 1434,
« 3, Option ID :- 1435,




. 4, Option ID :- 1436,
Answer Given:- 2, Option ID : -1434

Question ID:- 360

T Trferert e yaifersin gearEfe (Vocabulary ) fifad s=sfa @ | oo @enami vreEf
Torferg svenferfiacy =61 ggfa: gamEeT -
(1) AT Hal FeeRar a0 A9 9 w9 (Blackboard ) ¥/ H
(2) TS Uk 9IS HiSTIEHM HALEEH g (o9 a2 = @-5 fUge: 71 IeaHi SHEihiug
T4 |
(3) U=genId i YeSH iU starTgH fAevEy
(4) SEF dH WMl Ty ariehune U, dewr ardfaersiiorieeay oo garme e
Options:-
.1, Option ID :- 1437,
« 2, Option ID :- 1438,
« 3, Option ID :- 1439,

« 4, Option ID :- 1440,
Answer Given:- 4, Option ID : -1440
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